
India-A Newly Industrialised Country (NIC) 

Urbanisation in India 

Urbanisation is the physical growth of cities and an increase in their population.  India 

is typical of an NIC in that its population has rapidly urbanised as a result of migration 

from rural areas where there are many push factors and natural increase (more people 

being born than the number dying).  There are also pull factors that attract people to 

move to urban areas in India. 

Problems for Planners with 

Urbanisation 

With higher urban populations, 

planners in India’s cities face 

problems with increased 

demands on transport systems, 

pollution, sanitation and services 

as shown left.   

 
Push or 

Pull 
Factor? 

Opportunities for work 
 

Jobs are limited to 
farming 

 

Water supplies are 
unreliable due to 
drought 

 

There is access to basic 
healthcare quickly 

 

There are family 
members already living 
in the city of Mumbai 

 

There is poor access to 
schools in rural India 

 



Multinational Companies (MNCs) in India 

India is typical of an NIC because it has seen rapid economic growth in the last 20-30 years.  One reason for this is the location 

of multinational companies (MNCs) in India.  This has happened as a result of NIC governments giving financial tax incentives 

to encourage MNCs to locate their factories in their country.  Other reasons that MNCs have located their factories in NICs 

include: 

 A large cheap supply of labour where there is often no legal minimum wage enforced 

 Cheaper costs of raw materials (e.g. water, electricity, land) 

 Less unionised workforce where strikes are less likely 

 Less strict environmental and health and safety laws reducing additional costs to the MNC 

Coca-Cola in India 

 

 

 

 

 

 

 

 

IKEA in India 

IKEA is planning on opening 23 stores in India over the next 10 years.  The 

manufacturing of the products is being moved from Sweden to India in order to 

save transport costs and to take advantage of the cheaper raw materials.  This will 

create a positive multiplier effect in that jobs will be created indirectly for the 

companies that are manufacturing the products for the Indian IKEA stores.  

Why is India an attractive place for IKEA to locate its 

stores? 
• India has a large amount of emerging middle classes (1) that 

are well educated (1) who have more disposable income (1) 

to spend on products improving their home (1) 

• So it has a large market to sell its products (1) and make a 

large profit (1) 

• half of the population is under 25 under 25 (1) meaning they 

will be more willing to embrace modern products and ideas 

(1)  



Social and Cultural Impacts of an MNC-IKEA in India 

 Positive Negative explanation 
Some Indian people may 
worry that the traditional 
Indian home may be lost 

   

India is a  young market 
with half its population 
under 25 

   

There is the opportunity for 
Indian people to have a 
more modern home and 
lifestyle 

   

IKEA is trying to ensure that 
its products also reflect the 
culture and Indian 
traditions 

   

IKEA is a European MNC 
which may be perceived as 
a foreign influence 
changing Indian culture too 
quickly  

   

Modern furniture and 
technology means lives will 
be more efficient and help 
people to save time  

   

In other countries IKEA has 
been too expensive and not 
had products that reflect 
the traditional lifestyle 

   

People working for IKEA 
can develop new skills so 

   

 



India’s Trade Patterns 

India’s Exports 

India is typical of an NIC in that a high % of its exports are clothing as many MNCs have 

located their factories their due to cheaper labour costs.  In addition, primary products 

such as tea are a large part of India’s exports to the EU as the conditions to grow this 

product do not exist in EU countries.   

India’s Imports 

India imports high tech appliances and medical equipment from HICs in the EU as 

many of the high tech factories do not locate in India.  The growth of the emerging 

middle class in India means there is now a higher demand for high tech foreign 

produced goods such as carh which many people can now afford.  This has meant a 

rapid increase in the number of cars India imports from HICs around the world. 

 

 

 

 

 

 

 

 

 

 

 

 

 



 Space for Revision Notes on India (an NIC you have studied) 
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